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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question. (12.5 pts

each one)
Evaluate the integral. et cexloy) TR
. i = -4 2aun(sy) ST 2
] £ 5 4
) f % €08 5x dx o < ik
9 O s 9 9
- — cos 5x - =x sin 5x + C B) - =— cos 5x - =x sin 9x + C
25 R B
C)-iCOS5X—2Sin5X+C D)—2c055x—9xsin5x+C
25 5 5
] LI sun ¥ a 2 - C
2) f 23x sin x dx R T T o 2“/{3(? Ao
- 1 LAY

(o]

A)23sinx - 23 cosx + C
@23 sin x - 23x cos x + C

3) feSX cosdx dx 3@™coscar) - e anan) -

25X
gz (O5(ax) aw=-AWn(ax) A) L—2~ [ sindx + cos 4x] + C

B) 23 sin x + 23x cos x + C
D) 23 sinx - x cos x + C

B) 41—1 [4 €5X sin 4x + 5 cos 4x] + C

av= 5¥  yz Lps% =
edX . @dX :
C)T[-/lsm 4x + 5 cos4x] + C D)T[4sm4x—5cos4x]+C
av-S
g} SE WAy - fl‘eﬁf
« 5 4 (ny\ . 2
g : 4K ;ggp 3
Ta 3 cos ‘.
4) f x2 cos 3x dx - esv T S
1 1 i 2 SN i
A) §x3 sin 3x - gxz Cos 3x + EX sin 3x + > cos3x+ C oy - X
1 - 0 2 ,::, (3%
B) §x3 sin 3x + 1x2 cos 3x - 2x sin 3x - 2 cos 3x + C -0 S s (XY
@%ﬁ sin 3x + %xz c0s 3x - %x sin 3x = % cos 3x + C
x(GY) + 2%

D) %x3 cos 3x + %xz sin 3x - %x cos 3x - % sin 3x + C

5) f x3 In 8x dx

1 1
By L x4 i

‘®4X In 8x 16x +C
C)—i x4ln8x+~——116 x4+ C

0T nt¥l do=s i wy - Ndu

dv= %3 V= Xy

1

lmw\(?)»\ C2)(%) = st (?)- {

'€

¥3 5=
X~ sinlrx) & —
3 3 Y

B) 1n8x-%x4+C

D)%x4h18x-—21—0x5+C

x4 & x4
< = me(z} = e

N

g

v o

3)

(&%) 22'\ coSBVvY +C

/5)“



@ U= (3%t2) Qu=3

0= Inlxl  du= ¥
dv= Gv N= AL

X

(et intat - ¥ ] - Caarrpnn -22°

et (32) - [ (B)Cx2) = | 3E - Y3y = 3eynicl - é___;z z

C

. 42 .542 - 2.313 : = 406,295

6) jz‘ 6x In x dx } AV
@ 402 B) 6.70 C) 55.2 D) 9.48

7)f(3x+2)e'4xdx /7y |
A)) -%x e-4x - %e"lx +C B) _% x e-4X - e-4x 4+ C

8 [ye2ydy

Q) -12x e"4X - 56 e=4x + C 11

D) %x e-4x 4 Ee-4X + @

oyl 3. B o 5. 3
A)e Y{Zy B e fs HE

C)-%y4e‘2y+c ; D)_%e—zybl3+y2+y+6]+c

Aok d vaisdie ~Ax
. 3 X Sl .
(Swlwie"m‘)“\(‘l‘e By = S e il %e-“‘ = -Fve-4y = Se-av © 2 -4
—A o b N 7 l g . “
4% E : D (' (o @ (G\
+ Y3 e-2Y
B T g e 0
veg T Tigmy -0 4[.31*%‘41 74+ 3l
= 2 S s ab RS T
© —-»‘ge—zq
20 Aoty
© ¢

— = /8>/3 1%
1 3 3 3

—e-2Y|—v3 + Zy2

@e y2y+4y *4y+8]+c

-3yo-ax -8 o-4x
Z e (60 +C

—_———————



